ADDENDUM TO 425B/426C PARTS LIST

Please note the following changes to part numbers referenced on parts listing 12735R1

REF NO. PART NO. DESCRIPTION
33 2386 BOLT 3/8-16 X 3.50 HHCS G5 Z
72 9788 CHAIN 35 X 58P INCL. MASTERLINK
73 12658 CHAIN 35 X 56 PITCH INCL. MASTERLINK
1273581
ADDENDUM TO 425B/426C PARTS LIST
Please note the following changes to part numbers referenced on parts listing 12735R1
REF NO. PART NO. DESCRIPTION
33 2386 BOLT 3/8-16 X 3.50 HHCS G5 Z
72 9788 CHAIN 35 X 58P INCL. MASTERLINK
73 12658 CHAIN 35 X 56 PITCH INCL. MASTERLINK
1273581
ADDENDUM TO 425B/426C PARTS LIST
Please note the following changes to part numbers referenced on parts listing 12735R1
REF NO. PART NO. DESCRIPTION
33 2386 BOLT 3/8-16 X 3.50 HHCS G5 Z
72 9788 CHAIN 35 X 58P INCL. MASTERLINK
73 12658 CHAIN 35 X 56 PITCH INCL. MASTERLINK
1273551

ADDENDUM TO 425B/426C PARTS LIST

Please note the following changes to part numbers referenced on parts listing 12735R1

REF NO. PART NO. DESCRIPTION
33 2386 BOLT 3/8-16 X 3.50 HHCS G5 Z
72 9788 CHAIN 35 X 58P INCL. MASTERLINK
73 12658 CHAIN 35 X 56 PITCH INCL. MASTERLINK

1273551



